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20288 =4 2 3| LEta|H A AR
EM A=A
M MsEE
Rl MSEALEM XIS (SH9 H2)
SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
AL AA D 29,656,592 25,173,831 4,482,761
= 37,8% 37,89%5 0
) 1,651,758 1,651,758 0
< 1,968,700 1,966,700 2,000
= 1,060,000 0 1,060,000
= 20,688,239 17,267,478 3,420,761
CH 4,250,000 4,250,000 0
H=&E 28,736,042 24,345,042 4,391,000
= 37,8% 37,895 0
) 1,651,758 1,651,758 0
< 1,959,700 1,957,700 2,000
= 1,060,000 0 1,060,000
T 19,776,689 16,447,689 3,329,000
CH 4,250,000 4,250,000 0
HSHAIRL MK 1,348,3% 1,325,3% 23,000
DEZ A= 28 H 107,205 84,205 23,000
307 2IZto1 ™ 107,205 84,205 23,000
03 LM EHE2SHIEX 107,205 84,205 23,000
oOndZAEMAM=S 22 XA
3& 107,205,000 107,205 84,205 23,000
A= AASHAR 4,042,700 3,454,700 588,000
< 96,000 94,000 2,000
= 3,946,700 3,360,700 586,000
YT AIAPD HOIEEUZ 20,000 4,000 16,000
307 2I2to1 20,000 4,000 16,000
04 QIZFHALAISE = 20,000 4,000 16,000
OZZE=XIAI HOIESUS =X
d& 20,000,000 20,000 4,000 16,000
D& 0H0I A1 292,000 290,000 2,000
[ 12,000 10,000 2,000
s 280,000 280,000 0
307 2Itold 292,000 290,000 2,000
[ 12,000 10,000 2,000
= 280,000 280,000 0
04 DIZFHAIAIZE X 292,000 290,000 2,000
ODHEOOI AU [F=H LA ]
33 292,000,000& 292,000 290,000 2,000
< 12,000 10,000 2,000
= 280,000 280,000 0
A= EHSNSEUS 110,000 0 110,000
307 2I2to1 ™ 110,000 0 110,000
04 DIZFHATAIZ B X 110,000 0 110,000
OX=aMEHM=SMEUE Wzl K& 110,000 0 110,000




2 A=A}
M MEE
Bel: AEIMAFETA (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
SHHMXIESAEER] 20,000 0 20,000
307 e12+0ld 20,000 0 20,000
04 QIISHAAIS B X 20,000 0 20,000
OotAEXIEH M=l XN&H 20,000 0 20,000
HSIEAMMEUEN 400,000 0 400,000
307 212+01H 400,000 0 400,000
04 QIFSHAIAIH B X 400,000 0 400,000
OFGHEAMSUSEH K= X 400,000 0 400,000
= MET HENF F2US 20,000 0 20,000
307 el2+old 20,000 0 20,000
04 QIZSHAAIH B X 20,000 0 20,000
O==dEFH dEM=FU2 W= 20,000 0 20,000
dA=FAYEES =102 20,000 0 20,000
307 e12+0ld 20,000 0 20,000
04 QIISHAIAIH B X 20,000 0 20,000
Od==4EE s =203 H2XH 20,000 0 20,000
HEFEaAY 1,261,713 1,236,713 25,000
2l 163,478 163,478 0
< 27,019 27,019 0
i 1,071,216 1,046,216 25,000
Fad H2E Hd4 5|2 & A 25,000 0 25,000
307 212+0l1d 25,000 0 25,000
04 QIISHAIAIZ B A 25,000 0 25,000
ORaE ALE d= 32 =8 A X 25,000 0 25,000
HFIIBAIE =S ALY 18,664,000 15,364,000 3,300,000
2l 1,335,000 1,335,000 0
< 1,830,000 1,830,000 0
= 1,060,000 0 1,060,000
i 10,189,000 7,949,000 2,240,000
CH 4,250,000 4,250,000 0
H=AlE2AS 1,330,000 1,150,000 180,000
401 AIEHIL 20| 1,330,000 1,150,000 180,000
01 Al&HI 1,330,000 1,150,000 180,000
OZTE2SE 2 HESAY J12 ¢ &
ANEAHES 50,000 0 50,000
OHFHSSH &0 wA
&& 600,000,000 600,000 550,000 50,000
ONEHESI3H RUHANL(HEA 8) HE*
Ated &44d 180,000,000 180,000 100,000 80,000
8T AUHOFRHSE ZEAY 1,000,000 0 1,000,000
e 1,000,000 0 1,000,000
401 AIEHIZL 20| 1,000,000 0 1,000,000
= 1,000,000 0 1,000,000




S AX=AADL
3 NSsHE
R MSIISAI &S A (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
01 Al 1,000,000 0 1,000,000
Ond= AUOIHSE gAY 1,000,000 0 1,000,000
x 1,000,000 0 1,000,000
HEHOI) HOIESE AEHESA 120,000 0 120,000
x 60,000 0 60,000
i 60,000 0 60,000
401 AlZHIL 2 0HY] 120,000 0 120,000
x 60,000 0 60,000
z 60,000 0 60,000
01 Al&HI 120,000 0 120,000
OMHHOHE) HOIESE AEINESA 120,000 0 120,000
x 60,000 0 60,000
= 60,000 0 60,000
V8= IE=SF YA 1,000,000 0 1,000,000
401 AlZHIL 2] 1,000,000 0 1,000,000
01 AlZHl 1,000,000 0 1,000,000
OEX =24l 1,000,000 0 1,000,000
S MSAE (M0 ZEAL 1,000,000 0 1,000,000
401 AlZHIL 2 0HY] 1,000,000 0 1,000,000
01 Al 1,000,000 0 1,000,000
OEXN=Z4HI 1,000,000 0 1,000,000
HEANLE2S 2,269,271 1,814,271 455,000
HEAlE2te 2,269,271 1,814,271 455,000
401 AlZHIL S CHY] 1,120,000 665,000 455,000
01 AlZHI 1,120,000 665,000 455,000
Soff dEHSAE TEE EXSA 250,000 0 250,000
Ol HHMSAE FUAIE ZUISA 80,000 0 80,000
OS2 FSYAE HE+SA 45,000 0 45,000
OHUMS2(EHZ) 2AFL HEFSA 80,000 0 80,000
NS 91,761 0 91,761
2AXE 91,761 0 91,761
=EH BX3 gre 91,761 0 91,761
802 gtet=0Et 91,761 0 91,761
01 =NE2XSEHES 85,934 0 85,934
O=1ExZ ta=s 85,028 0 85,028
O=1=2x3 &= 0Ikt 906 0 906
02 Al - THIE XSS 5,827 0 5,827
OkHExZ gat= 5,761 0 5,761
OZHIEZxZ gtes oIkt 66 0 66




